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Which force exerts the largest magnitude torque about the
F,=100 N point A?
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What is the net torque exerted by the 4 forces about the point A?
Assume counterclockwise torques are positive.
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What is the net torque exerted by the 4 forces about the point B?
Assume counterclockwise torques are positive.
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thin hoop ar ring of
radius R & mass hi:

thick ring of inner radius
H1, outer radius FZ, and
mass M

salid cylinder or disc
of radius R and
tnass b

flat plate with sides of
length A and B and
mass M:
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(M*RA2) /2

M* (A2 + Br2) /12
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salid sphere of radius
R and mass M:

thin-walled hollow sphere
of radius R & mass M:

slender rod of length L
and mass M, spinning
around center:

slender rod of length L
and mass M, spinning
around end:

(2/5)*M*Ra2

(2/3)"M*R*2

(M*L~2)/12

(M*L~2)/3
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